PA PAT YA BREEZE SOFA ASSEMBLY INSTRUCTION www.papatya.com.tr

Material Identification

Fix the legs (A) to the bottom frame (B)
with to help of m8x33.

Bottom Frame 1pcs.
Q Metal Leg 4pCS. Bottom frame could be single, p

number of leg into the cardboard double or triple.

package might change
according to the final set view.

|

-

1
1
G Armrest&Backrest QSeat & Back Cushion Y
number of armrest into the cardboard : -
package might change according ! = : . O~_
to the final set view. ! o = g
- .

ﬂﬁ \
G hexagon carriage bolt m8x33 &,}W

® — >

@ M10x60mm P

@m6x22mm ()

L J ey

@ >

m connection part ‘.

Page 1/2




PA PAT YA BREEZE SOFA ASSEMBLY INSTRUCTION www.papatya.com.tr

Material Identification

G Fix the legs (A) to the bottom frame (B)
with to help of m8x33.

Bottom Frame 1pcs.
Q Metal Leg 4pcs. Bottom frame could be single,

number of leg into the cardboard double or triple.

package might change
according to the final set view.

|

-

1
1
G Armrest&Backrest QSeat & Back Cushion A\ 4
number of armrest into the cardboard N -
package might change according : —— i ) i =

AN\
G hexagon carriage bolt m8x33 &)})m:

@ — >

@ M10x60mm P

@ mé6x22mm.  gFss.

L F e

@ >

m connection part ‘.

Page 1/2




PA PAT YA BREEZE SOFA ASSEMBLY INSTRUCTION www.papatya.com.tr

@ Fix the only backrest (C) to the bottom frame (B)
with to help of m10x60mm (F)

0o

help of connection part for corner structure.

G 9 Fix the modules to each other with to
(4




